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On a solving of the question of Shinpouteisanki
with numerical analysis

Takuya Tsuchiya and Yuto Imai

ABSTRACT

We investigate the solution of a problem in Shinpoteisanki. Since solving the higher
order equation, we get the solution of the equation with numerical calculation. In addition,
we investigate the characters of the solution by using analytical method.
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-1.403 x 10 < 0. 00DDOO, f(s;)=000000 s, 000 (0,24 00000000.

f/(rL) = 8cgr 4 Terr 4 61y + besrt + deard + 3esrd 4 2ear, + 1 (42)
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import numpy

v1=56.7

v2=19.6

1=39

r=40

def f(rL):
c8=-1024*v1*v1+256*v2*v2
c7=-3072*pow (v1,3) +1536*v1*xv1*v2+1024*v1*v2*v2
c6=-3840*pow (v1,4)+4608*pow(vl,3) *v2+1792*v1xv1i*v2*v2
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c5=-2560*pow (v1,5) +6272*pow (v1,4) *v2+1792*pow (v1,3) *v2*v2
c4=-960*pow (v1,6)+4864*pow(vl,5) *v2+1120*pow (v1,4) *v2*v2
c3=-192x*pow(v1,7)+2208*pow(vl,6) *v2+448*pow (v1,5) *v2*v2
c2=-16*pow(v1,8)+b544*pow(vl,7)*v2+112xpow(vl, 6) *v2*v2
c1=56*pow(v1,8)*v2+16*pow(vl,7) *v2xv2
cO=pow (v1,8) *v2*v2
ans=c8*pow (rL,8)+c7*pow(rL,7)+c6*pow(rL,6)+cb*pow(rL,5) +cd*pow(rL,4)
ans+=c3*pow (rL,3)+c2*pow(rL,2) +c1*rL+c0
return ans

epsilon=pow(10.0,-10)

countMax=1000

count=0

while abs((f(1)-f(r))/£(1))>epsilon:

c = (1+r)/2.0
if £(1) * f£(c) <0:
r=c

else:
1=c

count=count+1
if count > countMax:

break

rL=c

rM=(rL-numpy.sqrt (rL*rL-2.0*v2*rL)) /2.0
rS=rM-v2/2.0

a=2.0*rL+vl

b=2.0*rL*(vi+rL) /vl
print("2r_L=", 2.0%rL)
print("2r_M=", 2.0%rM)
print("2r_S=", 2.0%*rS)
print("a=", a)

print ("b=", b)

print("c=", numpy.sqrt(a*a+b*b))
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